mM ir
F=—i —
G r¥ (r] m
6.6x 10 (N m%kg?)
M
F=- UO
u(r) = V(r)
rh,o o XY, Z
r=rsinfeosd; y=rsinffsing; z=rcosd 7
V=e E—F li—ﬁ L9
T T B T Y sind do
V(r) -

reosB !

|

1

Al (s | 3 1
F=_-%YVir= _pr"i _}i. ) | rsinBsing
ibr - : '{ N y
reosisind -y, LY
(s
R ——


http://www.hepl.phys.nagoya-u.ac.jp/~ohshima/ohshima2.html

dv ;
[ ir = Vir)

e = %
o _qerg [T
p=-vin()
X
Vet xyz
f
dffry _dr dfir) _ dy/TT 37 + 22 . dfir) _w . dfir)
ely dy  dr dy ir roadr
X
x gradient rotation
x ()
P T T F P
L[r,,]——fn F-:]r—---—fl; dVir) = Viry)
0
mM ir o ™ e M
F=-c22 (5)=-vin (1) s vin-6"g 5
p
A mM o S
1[;,,}_j; Gy dr = -G
(),
0] r

HRDEFS




x=0 X

di? = "%
w2 = k/m o T = 21 (mvk) Y2
X=A1 (-Z‘Io‘t +A, e'i“‘

AL A 1 atiby, Ay atiby &, &, by, by
A11A2
Ar* =A;
* 1 atiby o oa ib

1 .
mit 4 —krt = F

rif =01 = Acos[#) = oy

de(t =0) o _
T = —wAsin(F) =10

A=x, X=XoCoS(x)

B

0



apriori

it

o
I
EBHIT LT —

it

r=Avoset ;  F= —wdsinwk

I oo 1 g .o 1 By oo Lo 5
G md” = S A sin mt—am - Aczin u.ll—gji.-l st wst

1. . 1. .. .
5*'::2 = Ek'.—’.‘zmx"w‘f

1 . 1. . | . . |
E.r.r.!:.l".‘Z + iﬁ:.u;" = ikﬂ) {xfrrz:;.rt + rm‘zwl} = i.ﬂ:.—l‘E =F

page56-57



